Solve using quicktens and ones, number bonds, er the arrow way.

1. 26+13=_39 .
I solved using the arrow way because | know
135 10and 3. [can add the 10 first to get

26 it 36 "j"uj 39 36 and then add 3. My answer is 39.

2' 16 ! quVed using a number bond. | made aten.
[ know 18 needs 2 mdre fo make 20,50 |
_ . broke apart the other 18 into 2 and 16, 1
18+2=20 [ added 20 and 16 to get my ahswer of 36,
20416 =36 ;

3. 22 +18=_44

| solved using quick tens and ones. | can
draw 2 quick tens.and 2 ones. | can draw
18 more. 18 is 1 ten and 8 ones.

lcan draw the 2 ones in 22 with circles
and the B onesin 18 with ¥'s, When i do
this [ make a new ten and draw a line
through it.

Lesson 28; Add a pair of Bwo-digit numbers with varked sums in the enes,
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